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(r,) (i) ilrserr qBir rrrq wr * qt qu cc ttdr li
qfr ErsEII ifirrc t ilc+, qtq s&6'{s-s

*{r, rrna1frq qr q}Em {R? (s)

(ii) $ twrm qile srffiq wr ti (a)

(R) (i) frOt ffici f,k sc*frr {fl qa-ora t wr
gr.d{ *? qe iffi'{d ff$fr = g ozoo, qrcfru'

ff9fr = uao *, * SAfr Gt*d( tff rror*

dftqr (c)

(ii) xFr flftq fr frtff qR( al qffq, flr.r $ro0o

I gfu wrr Tcr cr{ u,flr{ qr ror< frqr rrqr

*: Mt: $Y(0.35-i), allq q( 5% tk 7%

** q< qk d fqr qm * rrvrqT dfrvr gn

qrrr s-6 q( urc { qR{dr * yqn d qifrq

wtNr (s) 
._
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l. Write your Roll No. on the top immediately on receipt
of this question paper.

2. Attempt any 5. Questions.

3. Pdrt of the questions are to be attempted together.

4, All Questions carry' 18 marks

5. Answers may be written either in English or Hindi:
but tbe same medium should be used throughout tbc
paper,
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2. Ifi{Iqluxd'*vaafoq r

3. rCt* qrrrqlqu,urd&q t

l. qS vs ro iro'* t r

5. {{r$$-qirt6'l. l ffirnfiftffiEqf,qNrdfi&v,ffic
qqr vt(t w nqr *'qr ii f,TJlr qIfu r

(a) Differentiate between the classical and the

Keynesian approach to wage and price adjustment.

What is the unified approach of macroeoonomios?

(e)

(b) (i) From the followiog data, calculate private

savings and government savings :

GDP : Rs. 8000

Net factor payment from abroad = Rs (')100

Consumption : Rs. 2500 '

Government Purchases = Rs. 1500

Interest payment on goverrutent debt = Rs. 250

Taxes = 2800

Transfers = 1200

lve,,v oe\ri\

M = 1000

(i) sfis( * qir s{q{ur ard d&gl (z)

(ii) cErcq qqi 6r (+6'rq am d&sl (z)

(iiD flrsqlc, qq qr, sqqll fr{ ff+lr d entt Ev

sr{q|s u}r cdcr s-fr + frs q6 {lq q-Eilt ard

dfrsr (s)

(iv) arfrt <fiqrur an dfrs qif v<clt Gd soo

t ooo ro {ail tr aM * ;rqr flTcgr, qrfr

s(, sq*rr *t ft*{r rft iar< *Rqr (s)
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(u) fi-r-}l{ro{:

C=400+0.8Yd

I: 1400 100i,

Tx : 500

G=500

L: 0.20Y * 50i
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4 (q,) Wrs st( rrfi qm d qro qQqnflffir urtc( qm, *
anar d d* f,t sq} qqrkd 6lfr l? co. irfrq fr
rre t qceril (c)

(<). rs n s d qr qrer * fr src t gk era-* <r i
gtr at ggn r.d {016 aG t q.c t? w wite fr
q-{€ ( trrer{qt (9,

s (c-) (i) T{r ryr*. * q6{66 frftqr (z )

(it) ffifrr + + 6t{* fu-+{ rncr * <m'e

.*qci<r< + rrrRil S? uq} rtr * irt{T }
qr<q q-ani : (2 )

(fi) rr$c Evr vr qrq

(c) Rrd €c v+e um frq w* qrdr 6"frqm

(ii)

(ii) Does tho price indcx help to measure the

inflation rate? With the help of the data given

below, calculate the rate of inflation for each

yeaf from 2014 to 2016 considering 2013 as

the base year

YEAR CPl

2413 60.0

2014 61 .5

2Al5

20t6 64.5

(3,6)

(a) (i) In classioal theory, what are the factors that

do not affect the level of output and

employment? (6)

(ii) Suppose that in an economy:
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f(r r6'tFr + {e 6r{Iqn fr cis fr *{d st
qttf qr ir.fiRrflr.fi'5c t dfrfr t, rm flfrs

fr sq'clc u] vc.ilq I mo wi rnI Urrflrt

ln.frlmqaq.rart ilkdlts6ffi co \c},

cs lct ak ca nc+ il dra d 6qil + frtuq

<il cr v6 c{ * frq d;g q( qo q{ * wril

dfrsr

t=70

G=200

TR = 150

t : 0.20

(a) Calculate.the equilibrium level of income

and multiplier in this model? (2)

(b) Calculate the budget surplus. (2)

(c) What will be the new equilibrium level of

income and the new multiplier if t increases

to 0.25? Q)

(b) (i) Suppose full employment output (Y*): 1000,

Actual output (Y) = 1100, Government

purchase of goods and services (G) : 200,

. Transfer Payment (TR) = 20 and Taxes =

0.20Y (20%).

Compute (a) actual budget surplus and

(b) full employment budget surplus.

(e) (i)

(ii) am*frs fr (S lqk !n qfr teil * tli
qrfk qqn (ar<re) 0.25 *t {rc E, {t;t

dfrts fr tilEo wqn soo 6fu wt * crr+t

tr nRr 6 zrum dfuq

(er) antuc fie

(s) io. Etl qlrq vr ffir

(v)ga aqffi

(2)

(e) TsI nurc (s,r)

))
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(u) (i) qr+ *Rs {d nvrnr srsqfe (y*) = 1000,

sr<fu ilscge (v) = noo, eEa) *t*<ra}

* lTcsrt {ilt( (G) = 2OO, ER|ttRoI SrrirFr

(TR) = eo *< 6T = o.2oY (2oo/o)l

(er) qmfrm. qq-c qErts qt (c) faf tcrrR

crc flfiric fr qur+ dfrqr (z)

(ii) ts-gfud lltrc {uro. * {ec + arer ffiq?
(a)

3. (m) (i) ifft<c qro Et, qr<Rq' qm qt flt fltF{
erRR6 qrm q{ * {s giq 61 q1s1 fr&vr

srrnfidtg} qt( sqr{Erilfl] E{r 6q IIq fi,{fr *
fts +r fr qm Er flqqnw ss+ rce$ *?

el?

(ii) Brielly explain balanced budget multiplier?

(4)

(a) (i) Explain the differences among the nominal

interest rate, the real interest rate and the

expected real interest rate. Which interesr

rate concept is most important for the

decisions made by borrowers and lenders?

. why?

(ii) Given the Nominal iuterest rate of lOYo,

calculate the expected real interest rate when

the oxpected inflation is 4o/o and 5Yo.

(5,4)

(b) (i) Justify the statement that bond prices and

the rate of interest are negatively related.

Give reasons for your answer, Suppose a

bond that. promisos to pay Rs. 100 in a year

. and the prices of a bond are Rs. 90, Rs. q5.

and Rs. 98. Calculate the interest rate on the

bond. for a year at different levels of prices

of the bond.
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(ii) Assume that all individuals do not hold

cumency a1d that the resbrve ratio (R/D) is

0.25. Also, assume that the. monetary base

equals Rs.300 crore. Calculate the amount of

(a) Reserves

(b) Checkabls Deposits

(c) The money supply

(d) The money multiplier. (s,4)

(a) How and why doos the multiplior and the intorest

sensitivity of aggregate demand affect the

slope of the IS curvo? Explain lvith tho help of a

diagram. (9)

is smaller than the increase in autonomous

spending AI times the simple multiplier oG? Explait

with the help of a diagram. (9)

11

(m) (i) rttt*c fu€til i, a *t{-+ cnq i u} ser*<

qk t-fim * wt oi sqrFil ifi 6tA t?

(o)

(ii) qqffftcfrffi stuq{ql+:

c=100+0.8Yd

I=70

G-200

TR: 150

t = 0.20

(fi) rs {sm { arq qtr lam * r(14-< wt d
{wr dRc? (z)

(r) <-cr se$s fr {qqT d&sr (z)

(t) ft t irfint o.2s i vts d sI{T rfiI ;rql

{-g-da rR *( 'rqr gcffi' Hr *qr? (z)
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*6lQ = t. 8000

Rtrr * ga 6rG lIrrfl< - r. (-)rcg

3rlqltl = E 25OO

T{6rt isltE = i. l5oo

<ccrt aor v( qrtT $Itr{ E {. 250

t6{ = 2800

Itk iRq = 1200

(ii) flr 1r W6rm- $rsnR qi c\ rrc+ + c-€

qrcr i? *i frs rls rt6.* 6 quqm t zors

r[I ruR cq crJtfi 2ol4 lt 2016 .6' rg6 iN
+ frq gn€fffr 6 q( fr rrur<r dftqr

YEAR CPI

2013 60.0

2014 61.s

2015 65.0

2016 64.5

6458

5. (a) (i) Defiae the money multiplier. (2)

(ii) Which of the following transactions are

included in India's GDP? Give reasons in

support of your answer: \2)

(a) Interest on national debt

(b) Commission charged by a real estate

agent.

(iii) What are the automatic stabilizers? (2)

(b) In a three-sector model:

7

C=400+0.8Yd

I= 1400--100i,

Tx = 500

G=500

L=0.20Y-50i

M = 1000

1=::.
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(i) Find the equation of the IS Curve. (2)

(ii) Find the qquation of the LM Curve. (2\

(iii) Find the simultaneous equilibrium for the

IS and LM Curves, showing output, rate

of interest, consumption and investment.

(3)

(iv) Find the IS equation for where government

spending increases from 500 to 800. Also

find the new output, rate. of interest,

consumption and investment. (5)

(a) (i) What is crowding out effect and when does

it occur? In the face of substantial crowding

out, which will be more successful, fiscal or

monetary policy? (5)

(ii) What is the full employment budget surplus?

(4)

(b) (i) What is the difference between GDP Defla o

and Consumer Price Index? Calculate the

GDP Deflator if Nominal GDP: $ 3280, Reat

GDP: 1840. (6)

(ii) Suppose that a person's yearly income is

$1000 and its money demand function is given

by: Ma = $ Y(0.35-i), calculate the person's

money demand when the interest rate is 5oZ

and 7o/o. Show diagrammatically the effect of

change in income otr the money demand curve.

(l)

(q) qq(t utr 1* vrr*o-< + fts rrrcftq ft dift€

EMur * ftq il-d( dftqr Mdfrn sr qfif-d

Eed"r wr ti (c)

(q) (i) ffifrr ffi *, fi-fr iF&T qk Tffit €d

6 TqHr dftrq:

t
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